

QUOTE PREPARED FOR:

Warren County Sch Dist 185 HOSPITAL DR WARREN, PA 16365-4896 ACCOUNT NUMBER: 432222

CONTACT:

Jennifer Dilks dilksj@wcsdpa.org (814) 723-6903

SUBSCRIPTION/DIGITAL CONTACT:

Jennifer Dilks dilksj@wcsdpa.org (814) 723-6903

SALES REP INFORMATION:

Shari Reed shari.reed@mheducation.com (814) 206-6333

Section Summary		Value of All Materials	Free Materials	Product Subtotal
Music Studio (K-6)		\$47,355.12	\$0.00	\$47,355.12
Voices in Concert		\$21,561.00	\$0.00	\$21,561.00
Professional Development Music Studio		\$2,500.00	(\$2,500.00)	\$0.00
Inspire Science (K-5)		\$177,048.30	(\$57,986.82)	\$119,061.48
Professional Development K - 5 Inspire Science		\$10,000.00	(\$7,500.00)	\$2,500.00
iScience (6-8)		\$88,212.96	(\$8,295.84)	\$79,917.12
GRADE 6-7-8 ISCIENCE PROFESSIONAL DEVELOPMENT		\$5,000.00	(\$5,000.00)	\$0.00
TECHNOLOGY		\$1,974.00	(\$1,974.00)	\$0.00
Reading Wonders Your Turn Practice Books		\$19,068.00	(\$19,068.00)	\$0.00
	PRODUCT TOTAL*	\$372,719.38	(\$102,324.66)	\$270,394.72
	ESTIMATED S&H**			\$5,923.56
	ESTIMATED TAX**			TBD
	GRAND TOTAL*			\$276,318.28

^{*} Price firm for 45 days from quote date, Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:			

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

07/20/2017

ACCOUNT NAME: Warren County Sch Dist

EXPIRATION DATE:

09/03/2017

QUOTE NUMBER: SREED-07202017-003

ACCOUNT #: 432222

PAGE #:

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Music Studio (K-6)					
SPOTLIGHT ON MUSIC DIGITAL BUNDLE 8 YR SUB GRADE K	978-0-02-138762-5	4	\$1,202.04	\$0.00	\$4,808,16
SPOTLIGHT ON MUSIC DIGITAL BUNDLE 8 YR SUB GRADE 1	978-0-02-141212-9	4	\$1,202.04	\$0.00	\$4,808,16
SPOTLIGHT ON MUSIC HYBRID SCHOOL BUNDLE 8 YR SUB GRADE 2	978-0-02-132128-5	4	\$1,823.76	\$0,00	\$7,295.04
SPOTLIGHT ON MUSIC HYBRID SCHOOL 8 YEAR SUBSCRIPTION BUNDLE GRADE 3	978-0-02-143801-3	4	\$1,836.21	\$0.00	\$7,344.84
SPOTLIGHT ON MUSIC HYBRID DIGITAL SCHOOL BUNDLE 8 YR SUB GRADE 4	978-0-02-141365-2	4	\$1,848.66	\$0.00	\$7,394,64
SPOTLIGHT ON MUSIC HYBRID SCHOOL 8 YEAR SUBSCRIPTION BUNDLE GRADE 5	978-0-02-143805-1	4	\$1,971.60	\$0.00	\$7,886.40
SPOTLIGHT ON MUSIC GRADE 6 HYBRID 8 YEAR BUNDLE	978-0-02-144813-5	4	\$1,954.47	\$0.00	\$7,817.88

Music Studio (K-6) Subtotal:

\$0.00

\$47,355.12

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

07/20/2017

ACCOUNT NAME: Warren County Sch Dist

EXPIRATION DATE: 09/03/2017

QUOTE NUMBER:

SREED-07202017-003

ACCOUNT #: 432222



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Voices in Concert					
HAL LEONARD VOICES IN CONCRT L1A TREBLE CHORAL HYBRID for Grade 5 8YR BNDL	978-0-07-677042-7	4	\$1,777.62	\$0.00	\$7,110.48
HAL LEONARD VOICES IN CONCRT L1B TREBLE CHORAL HYBRID for Grade 6 SCH 8YR BNDL	978-0-07-678195-9	4	\$1,777.62	\$0.00	\$7,110,48
HAL LEONARD VOICES IN CONCRT L2 MIXED CHORAL HYBRID SCHL for Grades 7-8 8YR BNDL	978-0-07-679505-5	4	\$1,835.01	\$0.00	\$7,340.04
Voices in Concert Subtotal:					\$21,561.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

07/20/2017

ACCOUNT NAME: Warren County Sch Dist

EXPIRATION DATE:

09/03/2017

QUOTE NUMBER:

SREED-07202017-003

ACCOUNT #: 432222

PAGE #:





Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Professional Development Music Studio					
STAFF DEVELOPMENT	SD0000001	1	\$2,500.00	\$2,500.00	*Free Materials

Professional Development Music Studio Subtotal:

\$2,500.00

\$0.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

07/20/2017

ACCOUNT NAME: Warren County Sch Dist

EXPIRATION DATE: 09/03/2017

QUOTE NUMBER:

SREED-07202017-003

ACCOUNT #: 432222



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Inspire Science (K-5)					
Kindergarten Kindergarten		mail I			
INSPIRE SCIENCE ONLINE STUDENT CENTER 6 YEAR SUBSCRIPTION GRADE K	978-0-02-140029-4	330	\$45,48	\$0,00	\$15,008.40
INSPIRE SCIENCE BASIC TEACHER EDITION/LEARNING CENTER 6 YR SUB BUNDLE GRADE K	978-0-07-679984-8	16	\$822,51	\$13,160.16	*Free Materials
		Kinderg	arten Subtotal:	\$13,160.16	\$15,008.40
Grade 1					
INSPIRE SCIENCE ONLINE STUDENT CENTER 6 YEAR SUBSCRIPTION GRADE 1	978-0-02-140030-0	330	\$45.48	\$0,00	\$15,008,40
INSPIRE SCIENCE BASIC TEACHER EDITION/LEARNING CENTER 6 YR SUB BUNDLE GRADE 1	978-0-07-679992-3	16	\$822,51	\$13,160.16	*Free Materials
		Gra	ade 1 Subtotal:	\$13,160.16	\$15,008.40
Grade 2					
INSPIRE SCIENCE ONLINE STUDENT CENTER 6 YEAR SUBSCRIPTION GRADE 2	978-0-02-140031-7	330	\$45.48	\$0,00	\$15,008.40
INSPIRE SCIENCE BASIC TEACHER EDITION/LEARNING CENTER 6 YR SUB BUNDLE GRADE 2	978-0-07-680001-8	16	\$822,51	\$13,160_16	*Free Materials
		Gr	ade 2 Subtotal:	\$13,160.16	\$15,008.40
Grade 3					
INSPIRE SCIENCE BASIC STUDENT NOTEBOOK/LEARNING CENTER 6 YR SUBSC BUNDLE GRADE 3	978-0-07-679455-3	330	\$52,41	\$0.00	\$17,295 30
INSPIRE SCIENCE BASIC TEACHER EDITION/LEARNING CENTER 6 YR SUB BUNDLE GRADE 3	978-0-07-680009-4	6	\$1,028.13	\$6,168.78	*Free Materials
INSPIRE SCIENCE LEVELED READER LIBRARY SET 6 EACH OF 56 BOOKS GRADE 3	978-0-07-666091-9	6	\$291.94	\$0.00	\$1,751,64
INSPIRE SCIENCE 2.0 SMALL GROUP SCIENCE KIT GRADE 3	978-0-07-898532-4	6	\$670.80	\$0.00	\$4,024.80
		Gr	ade 3 Subtotal:	\$6,168.78	\$23,071.74
Grade 4					
INSPIRE SCIENCE BASIC STUDENT NOTEBOOK/LEARNING CENTER 6 YR SUBSC BUNDLE GRADE 4	978-0-07-679469-0	330	\$52.41	\$0.00	\$17,295,30
INSPIRE SCIENCE BASIC TEACHER EDITION/LEARNING CENTER 6 YR SUB BUNDLE GRADE 4	978-0-07-679967-1	6	\$1,028.13	\$6,168.78	*Free Materials
INSPIRE SCIENCE LEVELED READER LIBRARY SET 6 EACH OF 56 BOOKS GRADE 4	978-0-07-666086-5	6	\$291.94	\$0.00	\$1,751.64
INSPIRE SCIENCE 2,0 SMALL GROUP SCIENCE KIT GRADE 4	978-0-07-898533-1	6	\$1,125.42	\$0.00	\$6,752,52
		Gr	ade 4 Subtotal:	\$6,168.78	\$25,799.46

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

07/20/2017

ACCOUNT NAME: Warren County Sch Dist

EXPIRATION DATE: 09/03/2017

QUOTE NUMBER:

SREED-07202017-003

ACCOUNT #: 432222



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
INSPIRE SCIENCE BASIC STUDENT NOTEBOOK/LEARNING CENTER 6 YR SUBSC BUNDLE GRADE 5	978-0-07-679475-1	330	\$52.41	\$0.00	\$17,295.30
INSPIRE SCIENCE BASIC TEACHER EDITION/LEARNING CENTER 6 YR SUB BUNDLE GRADE 5	978-0-07-679975-6	6	\$1,028.13	\$6,168.78	*Free Materials
INSPIRE SCIENCE LEVELED READER LIBRARY SET 6 EACH OF 48 BOOKS GRADE 5	978-0-07-666094-0	6	\$250.23	\$0.00	\$1,501.38
INSPIRE SCIENCE 2.0 SMALL GROUP SCIENCE KIT GRADE 5	978-0-07-898534-8	6	\$1,061.40	\$0.00	\$6,368.40

Grade 5 Subtotal:

\$6,168.78

\$25,165.08

Inspire Science (K-5) Subtotal:

\$57,986.82

\$119,061.48

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

07/20/2017

ACCOUNT NAME: Warren County Sch Dist

EXPIRATION DATE:

09/03/2017

QUOTE NUMBER:

SREED-07202017-003

ACCOUNT #: 432222

PAGE #:





Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Professional Development K - 5 Inspire Science					
STAFF DEVELOPMENT	SD0000001	3	\$2,500.00	\$7,500.00	*Free Materials
STAFF DEVELOPMENT	SD0000001		\$2,500.00	\$0.00	\$2,500.00

Professional Development K - 5 Inspire Science Subtotal:

\$7,500.00

\$2,500.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

07/20/2017

ACCOUNT NAME: Warren County Sch Dist

EXPIRATION DATE:

09/03/2017

QUOTE NUMBER:

SREED-07202017-003

ACCOUNT #: 432222

PAGE #:



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
iScience (6-8)					
GRADE 6: EARTH ISCIENCE					
EARTH/SPACE ISCIENCE XP CMPLTE STUDENT 6 YEAR SUBSCRIPTION BUNDLE	978-0-07-677751-8	120	\$92,64	\$0,00	\$11,116.80
EARTH & SPACE ISCIENCE ESTUDENT EDITION 6 YEAR SUBSCRIPTION	978-0-07-677399-2	186	\$76.59	\$0.00	\$14,245.74
EARTH/SPACE ISCIENCE TEACHER EDITION	978-0-07-677386-2	11	\$68,64	\$755.04	*Free Materials
EARTH/SPACE ISCIENCE TEACHER EDITON VOL, 2	978-0-07-677982-6	11	\$68.64	\$755.04	*Free Materials
EARTH & SPACE ISCIENCE XP CMPLTE TEACHER 6 YEAR SUBSCRIPTION BUNDLE	978-0-07-677882-9	11	\$159.00	\$1,749.00	*Free Materials
	GRADE 6: E	ARTH ISCII	ENCE Subtotal:	\$3,259.08	\$25,362.54
GRADE 7: LIFE ISCIENCE		No.			
LIFE ISCIENCE XP CMPLTE STUDENT 6 YEAR SUBSCRIPTION BUNDLE	978-0-07-677749-5	120	\$92,64	\$0,00	\$11,116,80
LIFE ISCIENCE ESTUDENT EDITION 6 YEAR SUBSCRIPTION	978-0-07-677377-0	192	\$76.59	\$0.00	\$14,705.28
LIFE ISCIENCE TEACHER EDITION	978-0-07-677290-2	9	\$68.64	\$617.76	*Free Materials
LIFE ISCIENCE TEACHER EDITION VOL. 2	978-0-07-677983-3	9	\$68.64	\$617.76	*Free Materials
LIFE ISCIENCE XP CMPLTE TEACHER 6 YEAR SUBSCRIPTION BUNDLE	978-0-07-677883-6	9	\$159.00	\$1,431.00	*Free Materials
	GRADE 7	: LIFE ISCII	ENCE Subtotal:	\$2,666.52	\$25,822.08
GRADE 8: PHYSICAL ISCIENCE			4		
PHYSICAL ISCIENCE XP CMPLTE STUDENT 6 YEAR SUBSCRIPTION BUNDLE	978-0-07-677747-1	120	\$92,64	\$0.00	\$11,116.80
PHYSICAL ISCIENCE ESTUDENT EDITION 6 YEAR SUBSCRIPTION	978-0-07-677342-8	230	\$76,59	\$0_00	\$17,615.70
PHYSICAL ISCIENCE TEACHER EDITION	978-0-07-677312-1	8	\$68,64	\$549.12	*Free Materials
PHYSICAL ISCIENCE TEACHER EDITION VOL. 2	978-0-07-677984-0	8	\$68.64	\$549.12	*Free Materials
PHYSICAL ISCIENCE XP CMPLTE TEACHER 6 YEAR SUBSCRIPTION BUNDLE	978-0-07-677884-3	8	\$159.00	\$1,272.00	*Free Materials
	GRADE 8: PHY	SICAL ISCII	ENCE Subtotal:	\$2,370.24	\$28,732.50
		iScience	(6-8) Subtotal:	\$8,295.84	\$79,917.12

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

07/20/2017

ACCOUNT NAME: Warren County Sch Dist

EXPIRATION DATE: 09/03/2017

QUOTE NUMBER:

SREED-07202017-003

ACCOUNT #: 432222





Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
GRADE 6-7-8 ISCIENCE PROFESSION	AL DEVELOPMENT				
STAFF DEVELOPMENT WORKSHOP	TRN2001	2	\$2,500.00	\$5,000.00	*Free Materials
GRA	ADE 6-7-8 ISCIENCE PROFESSIONAL	DEVELOP	MENT Subtotal:	\$5,000.00	\$0.00
TECHNOLOGY			The state of		
IPAD FWO	978-0-07-662303-7	6	\$329.00	\$1,974.00	*Free Materials
		TECHNO	LOGY Subtotal:	\$1,974,00	\$0.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

07/20/2017

ACCOUNT NAME: Warren County Sch Dist

EXPIRATION DATE:

09/03/2017

QUOTE NUMBER:

SREED-07202017-003

ACCOUNT #: 432222

PAGE #:



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Reading Wonders Your Turn Practice Books					
READING WONDERS YOUR TURN PRACTICE BOOK GRADE K	978-0-02-119363-9	350	\$9.09	\$3,181.50	*Free Materials
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 1	978-0-02-119532-9	350	\$9.03	\$3,160.50	*Free Materials
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 2	978-0-02-118867-3	350	\$9.09	\$3,181.50	*Free Materials
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 3	978-0-02-118999-1	350	\$9.09	\$3,181.50	*Free Materials
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 4	978-0-02-119057-7	350	\$9.09	\$3,181.50	*Free Materials
READING WONDERS YOUR TURN PRACTICE BOOK GRADE 5	978-0-02-119224-3	350	\$9.09	\$3,181.50	*Free Materials

Reading Wonders Your Turn Practice Books Subtotal:

\$19,068.00

\$0.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

07/20/2017

ACCOUNT NAME: Warren County Sch Dist

EXPIRATION DATE:

09/03/2017

QUOTE NUMBER

SREED-07202017-003

ACCOUNT #: 432222

PAGE #:



Comments:

Because learning changes everything."

QUOTE PREPARED FOR:

Warren County Sch Dist 185 HOSPITAL DR WARREN, PA 16365-4896 ACCOUNT NUMBER: 432222

CONTACT:

Jennifer Dilks dilksj@wcsdpa.org (814) 723-6903

VALUE OF ALL MATERIALS	\$372,719.38
FREE MATERIALS	(\$102,324.66)
PRODUCT TOTAL*	\$270,394.72
ESTIMATED SHIPPING & HANDLING**	\$5,923.56
ESTIMATED TAX**	TBD
GRAND TOTAL	\$276,318.28

SUBSCRIPTION/DIGITAL CONTACT:

Jennifer Dilks dilksj@wcsdpa.org (814) 723-6903

* Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.
**Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.
Towns of Consists
Terms of Service:
By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service Subject to Subscriber's payment of the fees set out above, McGraw-Hill School Education, LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in
the Terms of Service. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.
ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites to visiting www.mheducation.com (or www.mheducation.com).
School Purchase Order Number:
Name of School Official (Please Print) Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

07/20/2017

ACCOUNT NAME: Warren County Sch Dist

EXPIRATION DATE:

09/03/2017

QUOTE NUMBER:

SREED-07202017-003

ACCOUNT #: 432222

PAGE #: